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Q. ITT T T TGH FIT 9T AT a1
3Rl bl T et 9&dT FT 3L 3T
caE Ry

Q. Find the difference between the
smallest four digit number and the
largest two digit number.
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Q. TFTE?
Q. Whatis 1 ?
"D > (a) AT 9EAT/Prime
N number

(b) saaT weqt/Irrational

number
(c) TR¥T TegT/Rational
number

d) quri=F/Integer
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Q. €T A FUE I AT Todl AT
(e T ol 3l § T Th1L Tor@T ST
qhall B
Q. The number 'Nine Crore Nineteen
Lakhs Ninety Thousand Ninety Nine'in
figures can be written as: (a)
/\ g@ 9901999
N (b)
91990099
©)
9199099

(d)

QOON10ONO0O
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Q. Rt § 9 sia-91 deamd qur at
Tel g7
Q. Which of the following numbers are
not perfect squares?

(
(NS, (b) 169
n i)} (s
(
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Q. F: (=l Teh AT H goTX & €ITH 9L 3 4 g1 @12 o ¥
T ST 37 g a8 BT & TATH o 3 T IRET gl dhe o AT I
3eh BT o TATH o 3{eh T AT gl ThTs h €ATH T 37 Hehg 6
TIAT % 3o T YT gl T GoNTL oh TATH AT 37 FATC 3 Hehg
TIATH oh 3R ol SIS gl ATE h TATH &l 3h aF ZATC o €T o 3
T T 2| T&IT FAT T2

Q. In a six digit number, the digit of thousands place is 4 .
The digit at ten's place is double that of digit at thousand's
place and digit at hundred's place is half of the digit at
thousand's place. The digit at unit's place is half OHB‘G digit
at hundred's place. Di %{%.—Té{f thousand's place ig58% pf
the digits at thousand @'/w reds place and di@j at
lakh's place is half the digit at ten thousands placezglygab will
be the number? ©
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Q. 10001,20022 == 30333 & IT
I 7 g AT U 5 17069

T 31?

Q. What should be subtracted

from the sum of 10001,20022 , (a)

and 30333 to ggu 70697 23131
(@) B
43287

(C)
57313
)
53397
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Q. 1729 T THTISA H&AT Figl 7T &,
(6 T2 Teh T gl JedT ¢ o &b
AT T | &7 H&AT3A & J1 & T
ST ST ST Taha T gl Meierid § 9
GEAT3AT o I F VAT & =TT T
HEIT 9TH ZH{17?

Q. 1729 is called the Ramanujan
number because it is the smallest

number expressibl e?}s(lih?ﬁLﬂMd)f
two cubes in two d% nt ways.

. )

Which of the follow 15104 g
numbers will give c%%?of t)hisn

numbers? (C) (2,1 1) and
(10.,9)
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Q. FRET "&TT & [urHETE B 2
Q. The factors of any numbers

::)\ BEp HROBHRRRTaT

399 FH/
Equal to or less
than

(b) T&aT & L& M

399 TTeeh/

Equal to or greater
than

(C) |t & FXrae/
Equal to
(A o= o =17/
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Q Aoferead § 9 Fl9-97 FI99 94

% W@g&@rﬁéﬁ%@z&? ng
(s atements.Is correc
IS @ prime num ( = \
(b) 1 T AT H&T 2
1 Is a composite number.
(C) 1 U AqTST AT AATST T&gT a1 g
1 is a both a prime and a
composite number.
(d) 1 7 a7 U STATST HEAT 8 T T af
T ATT HEIT 3|

1 ic natthar nrime nar 2 comnancita
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Q. H T R =l Uk TAUH HE&AT § 30T 24x4 9
ATEF Z| HL TohTe AT TGT5 & o & gl #
il |1 H&AT 272
Q. | am a 2-digit odd number and greater

than 24x4. My ones and tens digits are

equal. What nu m|? (a) 87
& ”)" (b) 88
\ (c) 97

(d) 99
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Q. 786364 ¥ AT : * TATHIT HIAT HT

U6 8-
Q. The product of the place values of two
sixes in 786364 is- (a) 36
ﬂ )
1610]0]0
(€)
360000

(d) 6060



(a) (1) and (iv)
(b) (ii), (iir)
and (iv)

C (i) and

JIT2TST CTET / STET 2023

[CTET-2021]
Q. FAuteriea st 9T "= 7

Q. Consider the following
statements :

(i) T sraTex HeaTu fawy Hear
Brdl

All prime numbers are odd
numbers.

(ii) T 37 ATAT hael T AATST
&0 2|

There are only five single digit
prime numbers.

(iii) sTTsT AT AURATT &9 9
SEE]

—_— . . = =g 3
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Q. = = ¥ 0

LAl
Q.What will come in

B¢ PRRHZ/ 9 thirds
MreSate 1 thitd

tepsfeal 3

twelfths

(d) 13 g4t/ 13

twelfths
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Q. 9EAT 276875 AU 7 F
EATAT HIAT T AL FAT 272

Q. What is the difference of
the place values of two 7’s In
the number 276875 ?

) (a) 69993
7/;W{F> (b)
<¥<:2>\ 699730

(C)
699970

(d) 69930
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Q. T G&IT 50 & 3Tl § 3T8F gl Tg 3
TET= | AT T 4 T8I H TH g T

Huu 1 aohla T 3 TZT2 % 3 F
TR[AT g HE&AT F47 872

Q. A number is larger than half of 50
. It is more than three tens and less

than four tens. The ones diQ%it;t IS two
times’ heij digit. What i&4heS
umbertS (b) 32

| (c) 36

(d) 38
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Q. 50 & T g TUIRI H STATSAT shl

Q. The number of positive prime

integers < 50/s (a) 16

(b) 15
(c) 14
(d) 25
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Q. FEAT 222222 T 9&T SATUAT;
(as ll >

Q. The number 22222 will be read

(a) AT A &l 91 a9

Twenty two thousands two hundred twenty
two.

(b) AT AT 16 BATC & A1 T2

Twenty two lakhs twenty thousands two
hundred twenty two.

(C) TN ATE ATH AT &l |1 a759

Two lakhs twenty two thousands two hundred
twenty two.

(d) I AT AT AT &l 91 a159

Twenty two lakhs twenty two thousands two
hundred twenty two.
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Q. Frgfrfya & (8) TF ST9TST HEAT H ST TH

H I9-9T I
qTA 7

Q. Which of
the following
statements is

FATST H&AT Slel o, qT HaT U
AT HEAT ITH (T

A prime number when added to
another prime number always
gives a prime number.

(b) T TSI HEAT AT TH
AATST H&AT § IO T AT ST q
qaT U FATST G&AT I g0

A prime number when
multiplied by another prime

number always gives a prime
number.

{r‘\ 2T9T T 321 %—ido&]l\%ﬁ;h JIUIc-Hoi\c! rldr\l.
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Q. T&F @A F TT H

TSR, WIS T 5 AT 8
\/\\5 AT AT AT 4 AT 21 TTa

{20 ) TR 5 8, qT AT F1
S s

Q. In a division sum, the

divisor is 5 times the
tgﬁpt and 4 times the

r%sl%igder, If the

r lmderis 5, what Is
tggzligg_jend?
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Q. [4%7+ 4624 463+ 464+ 465] fohy Fem

H ATST g
Q. [461+ 4624 463+ 464+ 465] IS
divisible by: (a) 3
| (b) 11
(c) 17

(d) 19






